thad g m*Mr1/GevA

pT

1/od’c/ d

Ratio to ATLAS

—
<
i

=
o
&

=
o
&

1077

[EEY

0.5

13000 GeV pp tt
_| T I T I T I I T | T I T I T I T I T |_ 9
c
top . . Qo
__ pT (ATLAS semileptonic ttbar) 3
— s
— —Ar~
B H LY
| N
o
- —
—
™
= Jo
- =
L ]
©’
— — ™
— <t
_ — ™M
— Jo
o
— -1 M
- R
B m ATLAS ] >£
| --O-- Herwig++ 2.7.1 default =
—  —— Herwig++ 2.7.1 UE-EE-5 ==
— --4-- Herwig 7.2.1 default — §
B 1w
B 18
- — O
(&)
= | | | | | | | | | &
— -2
B =S _
= - 1
- , |
| —0.5
| 1 1 1 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000

pt" [GeV], m>*M in [200,400] [GeV]



	Contents
	Page 1


